20255 (=FK) KRASKBREREHITHFRER

PR mmastsam S8 57 mamy | CCRRIRAMERR | AT
NG FE] ) A () 717 2 7] A 58 10kV/5145 Hh 2% 110k Vil! 5 % A% B 7413.2 444.66
KEIT | B R A & A5 10kv4125 k15 4k 110KV i 30 AL H b 9526.3 4382.12
YNGR CENGRIAGEN: 10kV421077 E2°5 4k 110KV T 30 AZ A v 9578.2 1721.96
NG I O ks [ 7 2 ) A 3 10kV414 7 3T 25 110KV o 3 4% H il 9578.2 126.96
KR FE] [0 K [ 7 2 7] A 3 10kV 40374 M 2% 110KV B &I 4% Hi il 7413.2 2508.16
NG EPNERIAGE: N 10kV544 75 1 2% 110kV P4 22 F vl 7413.2 1129.96
KA T EIEPNERIPAR ¥ 10kV406 7R 12 5 45 110KV I 7R A% Fe il 5490.6 664.08
NG BEE CPN G AR B N 10kV4227 2 5 2 110KV B R0 A% Fi il 11189 909.1
KR T FE] ) A (] 77 2 7] A 58 10kV5397 7915 £& 110kV PG 22 F vl 11189 1130.8
NG EIEPNERIAEE N 10kV4277F K X & 110KV A% FE 28 F bl 9578.2 1047.26
yNGiRi] EENEIPAGE N 10kV53107) H25 2% 110KV Vb U A% F il 11189 1397.2
KA T FE] [0 K [ i 2 7] A 3 10kV42375 /N 15 2 110KV I 7R A% Fe il 9560.9 12.22
PN R EE PN R A BN 10kV4227f 552 5 2 110KV 45k A= A% Hi, 3 5490.6 943.78
KIE T W K [ 7T 2 ) A 3 10kV5144; J& £ 110kV PG 32 F vl 9578.2 1434.56
KIF T ] I A [] 77 2 7] A 5 10kVAL44HAT b 25 2 110KV I 7R A% B il 7413.2 864.66
KET | MK R A & A 10kV/504 5 7 4 2% 110K Vil 5 AR R v 5265.4 1480.22
NG EIEPNE NGRSt 10kV 511 HERTF 15 2k 110KV 5% % A% F il 7413.2 2349.96
RET | MK R A & A 10kV522¥/ 112 5 £ 110KV 0 i A% H i 9942 1261.09
KA o K ) 71 2 ) A3 10kV421F 2k 110kV Fg X8 AL H il 11189 170.5
NG [ [ K [ i 2 ) A 3 10kV4214 15 2k 110KV 7 45 22 F vl 9942 1568.59
NG REE | PN TPA P N 10kV51107b 4 £k 110KV b U A% Fe il 11189 1654.54
KA o K ) 71 2 ) A3 10kV525% 4 2k 110KV B A% H il 5265.4 1687.82
KA T EIEPNERIAGE N 10kV51474% 4E 2k 110KV %% 3 22 F il 5490.6 1355.95
KEIT | E MK RE A R A 10kV4257 115 4k 110KV B R0 A% F, il 11189 618.3
NGl EPNERIRAGE N 10kV507% V] 142k 110k Vil 5 % A% F 7413.2 1303.55
KT EIEPNE RPN 10kV522 K 12k 110KV K PR % A% FE 3l 9578.2 2057.66
KET | WK R A & A 10kV431074 77 2% 110KV 5 78 4% F il 11189 314.6
KIF T EIEPNE R AR St 10kV53127 ZE1'5 2k 110KV V532 F vl 11189 3526.9




20255 (=FK) KRASKBREREHITHFRER

PR mmastsam BB TR mamy | CCRRIRAMERR | AT
NG o K ] 71 2 7] A3 10kV526 T. 4% £k 110k Vil! 5 % A% B 5265.4 1059.92
KR ] K [R] 7 4 7] A 3 10kv4121H #5245 2k 110KV 43k A= A% H 3 7413.2 91.26
yNGiRif] EENGRIVAGE N 10kV53147b i £k 110KV b U A% F il 7413.2 345.06
KA EPNGRIRAGE N 10kV544FR A 2k 110KV R PR B AE F v 9560.9 1024.02
KT WA K ) T 2 ) A 38 10kV52107b [iHl 2% 110KV b U A% B il 11189 1916.45
NGl EPNEL AR ¥ 10kV 513711 £k 110KV 117 A2 F vl 9578.2 2450.86
KA T EPNERIAGE N 10kV4281L H £k 110KV 7 45 32 H il 9578.2 923.86
NG EPNGER AR N 10kV5287b%k2 5 4k 110KV b U A% F il 7413.2 162.36
KA EPNGRIRAGE N 10kV5347b FH £& 110KV 0 I 22 F vl 11189 1372
KA T EPNEI AR S 10kV5313¥b FE2 5 4 110KV 0 I A2 F vl 11189 111.6
yNGiRif] EPNGRVAGE N 10kV5187b 7R £k 110KV Vb U A% F il 5490.6 1470.38
NG PN AR N 10kV509F 4k 110kV & A4 AL Fi bl 9578.2 1044.02
KR i ] K [R] 7 4 7] A 3 10kV515FIFELL 110k V A1 FF A% H, i 9560.9 796.12
K [E T WA e [ T 2 5] 4 28 10kV53714 )51 5 2% 110kV PG FRA% 3 7413.2 3138.46
KA T EPNGRRAGE N 10kV¥bik 4533 110KV V0 22 F vl 11189 1761.7
YNGR EPNERIFACE N 10kV5287F %25 2k 220KV T 5 5 A F 3 5265.4 1160.52
NG W K [] 7 2 7] A3 10kV529/= B 2% 110KV K PR % A% H il 7413.2 1389.96
NG EPNERIRAEE N 10kV 4197t 7k 2#2% 110KV 7 4532 H il 5802.4 1856.92
KET BPNERALGF N 10kV512 F ALK 110kV 7 AR HL i 9942 2575.5
NG EPNGRIRAGE N 10kV4117h B15 4% 110KV 7 45 22 F vl 9578.2 2682.16
yNGiRif] o K [ 77 2 ) A 10kV51147b4%3 5 2% 110KV b U A% Fe il 11189 3070.5
KIF T B NG AR N 10kV5331H Z& 4k 110KV 75 # A% Hi il 11189 682.3
KIF T EPNERIRAGE N 10kV 54174 %25 4; 110kV P52 F vl 9560.9 808.62
yNGiRi] ] K [R] 7 2 7] A 3 10kV51137b 1 5 2k 110KV b U A% F il 9942 1340.28
NGl W K [ 77 2 7] A 35 10kV 5063k P4 #7 2k 110KV 11 7] A2 F, vl 9578.2 1262.76
PN EPNENFAF N 10kV514F11£; 110k V A SH A% F v 9578.2 590.26
KR ) K [R] 7 2 7] A 3 10kV 52053 125 110KV f AT A% F 3 7413.2 1385.16
KIF T EPNEIAGE N 10kV4211 7% 77 2% 110KV 7 45 22 F vl 11189 2416.6




20255 (=FK) KRASKBREREHITHFRER

PR mmastsam B8 £ 7 mamy | CCRRIRAMERR | AT
NG o K ] 71 2 7] A3 10kV411275 25 2% 110KV 7 4§22 F vl 5490.6 1571.45
KT EIEPNE RPN 10kV410JfE 1. 2k 110KV 5 7R A% F il 7413.2 365.36
KT EPNEL AR ¥ 10kV512K 3t 2k 110KV K ER % 4% il 11189 2602.2
KT EPNEIAGE N 10kV 43474 i 2k 110KV 75 A8 A2 F il 9578.2 2321.19
KT PN AR N 10kV 52632 5 £& 110KV A A% FE il 11189 507.8
NG EPNERIAGE: N 10kV515FF i £& 220KV T 5 i AL F ik 9942 1331.1
KA T ELEPNERPAGE N 10kV 418/ P25 45 110KV 43k 75 22 F, il 7413.2 657.76
KA NG PARE: ¥ 10KV 51187 4E £ 110KV 3 B A% Fi il 11189 812.3
KR T EPNGRIRAGE N 10kVA4181H FE2 5 45 110KV 35k 42 22 F vl 6980.2 1797.96
yNGiRi] PN ARG E N 10kV5245E 145 110k VI % % A% FE 3l 6980.2 1492.33
KR WK [ 7 2 7] AR 10kV5187T HiZk 220KV T 5 i A% F 3k 9560.9 499.42
NG EPNERIEAGE N 10KV 42241 Jift1 5 4% 110KV 35k 75 22 F, il 7413.2 1025.46
KA EPNERIPARE: N 10kV5315¥ MHAZE 110KV b U A% B il 5490.6 478.38
KT EPNERPAEE: N 10kva24t /74 110KV 7 4532 F il 11189 776.8
KT NG N 10kV516K i £k 110KV K PR B AZ F v 10911.9 1735.12
yNGiRif] EPNGDIVAGE N 10kV5247b 75 2% 110KV Vb U A% F il 9578.2 4361.46
NG EPNEIAGE N 10kV515¥) H1'5 4k 110KV Vb U A% F il 9942 1689.6
KA EPNERIPARE: N 10kV 5124/ 1 £ 110k VA 2 % A% B 3l 11189 1034.17
KA WK [ 77 2 7] AR 10kV 521 AR 2k 110KV K PR % A% F il 7413.2 2621.76
NG EPNGRIRAGE N 10kV528J 5 i 25 £k 110KV K PR % A% FL il 9560.9 2121.92
yNGiRif] EPNGDIVAGE N 10kV 52770 f1 2% 110KV b U A% Fe il 11189 2376
KA EPNEL AR ¥ 10kV41275 15 2% 110KV 5 74 4% F il 9578.2 2000.26
KA T EIEPNERIPAR: ¥ 10kV531074 2'15 £ 110kV P52 F vl 9942 657.9
PNkt EENEhAGE S 10kV52127K 825 2% 220k VI 5 % A% L 3 11189 838.17
NGl EPNERIRAGE N 10kV525% 25 4; 110KV K PR 1% A% FL 9942 2896.96
NED WK [ T 2 ) Al 10kV510°F 25 110kV & A4 AL H b 9560.9 1733.29
pNGiRi] PNV N 10kV52370 4114 110KV b U A% F il 11189 2124.18
KIF T EPNERIRAGE N 10kV5117b i1 5 45 110KV 0 I 22 F vl 11189 511.5




20255 (=FK) KRASKBREREHITHFRER

PR mmastsam S8 57 mamy | CCRRIRAMERR | AT
KA T o K ] 71 2 7] A3 10kVA111H1 5515 28 110KV 35k 42 22 F vl 9578.2 2673.16
KT EPNERIPARE: N 10kV 51641 2 110KV 1A A% H, ik 11189 1669.5
yNGiRif] EENGRIVAGE N 10kVSI6H M 25 2k | 110KVl 7 #E A8 H il 9942 450
NGkl EPNGRIRAGE N 10kV537¥0 8 2% 110KV 01U 22 F vl 11189 2015.39
KT EIEPNE RPN 10kV507 & 4k £k 110kV & A B A% H il 7413.2 352.36
KA EPNEL AR ¥ 10kV/ VY % 2415 110KV 35k P4 22 F vl 9578.2 1682.16
KIE T EPNEL ARG S 10kV 43574 1] £ 110KV 7 A8 A2 H, il 9578.2 2246.36
pNGiRi] EENGRIPAGE N 10kV 4337t 2% 110KV 5 74 A% Fi 3l 9578.2 1209.66
KR T EPNGRIRAGE N 10kV5211HF 325 2 220k VT Il AR FEL 7413.2 1925.06
yNGiRi] PN ARG E N 10kV510°F- FE1'5 4k 110k VI % % A% FE 3l 7413.2 280.16
yNGiRif] EPNGRVAGE N 10kV4327/5 JF 245 2% 110KV 5 74 4% F il 9578.2 1721.76
KA T EPNERIEAGE N 10k V53871 Ji: 25 110KV PG 32 H il 9560.9 971.82
NG EPNENFAGE Nl 10kVA11FGHT 45 110KV 7 2B AL H, b 9942 219.2
KIE T NG TPAE N 10kV5137b 3L 2k 110KV 0 I 22 F vl 5490.6 3296.28
KA T EPNGRRAGE N 10kV41375 H11 5 45 110KV I, 74 A% B 3l 9560.9 1386.82
YNGR EPNERIFACE N 10kV513H M2k 110KV H A4 AL Fi v 9560.9 344.82
KA T W K [] 7 2 7] A3 10kV5257b 2 5 4& 110KV Vb U A% F il 11189 397.8
KA EPNERIPARE: N 10kV403 4 K £k 110KV 5 7R A% Fe il 5490.6 858.58
KA WK [ 77 2 7] AR 10kv418Jifi &2k 110KV 7 4832 H il 5265.4 276.77
NG EPNGRIRAGE N 10kV515/ #1545 110KV 7 g A2 F il 9560.9 2302.22
KR T o K [ 77 2 ) A 10kV524 /K & 4; 110KV K PR K A% FE 3l 11189 1455
KIF T WA K ) T 4 W) A 10kV4117 7 /K 2% 110KV 7 4548 Ha vl 11189 1388.2
KA T EPNERIRAGE N 10kV514FF- 2k 110KV K PR B AZ R v 9560.9 754.92
KT B NG E N 10kV i P 1#2:425 110kV 3 A% B 11189 1010.05
NGl EPNERIRAGE N 10kV51671 %15 £& 220k VT It AR FEL 7413.2 2080.36
KT WA K ) T 2 ) A 38 10kV 5194 Al 2k 110KV K PR % A% FE 3l 7413.2 129.86
PNkt ]k [ 7 2 7 A 2 10kV 52611 ™ 2% 110kV FIRH AR HL 3 5265.4 1039.22
KIF T EPNERIRAGE N 10kVAIOBE /N X 1528 | 110kV 2% FE 28 Hi i 9560.9 2306.92




20255 (=FK) KRASKBREREHITHFRER

PR mmastsam B8 £ 7 mamy | CCRRIRAMERR | AT
NG o K ] 71 2 7] A3 10kV5134 I 4k 110KV %7 A% Fi v 11189 664.8
KR o K [ 77 2 7] A 10kV51117b £k 5 24K 110KV b i A% H i 11189 530.4
K IR EENGRIVAGE N 10kV 5264 2% 110K VA 2 A% F b 5490.6 1021.76
NG EPNGRIRAGE N 10kV516 )7 P15 45 110k VA ZE % A% HE 3l 11189 1469.2
KR FE] [0 K [ 7 2 7] A 3 10kV 509k Ji 4¢ el £k 110KV 1A A% F, 3 7413.2 1989.06
NGl EPNEL AR ¥ 10kV409 ¥ #1 5 £& 110KV 7 28 AL F il 7413.2 641.06
KA T EPNEL ARG S 10kV 415/ A1 5 45 110KV 7 A8 A2 H, il 11189 1087.7
NG EPNGER AR N 10kV52574 28 2% 220KV T 5t % AL F 3k 11189 1327.8
KR T EPNGRIRAGE N 10kV5210fK [F] 2% 110KV K PR 1% A% FL il 7413.2 1006.45
NG EPNERIRAGEE N 10kV/5084f 2 HL. 25 2 110k VI % % A% FE 3l 9560.9 134.02
yNGiRif] EPNGRVAGE N 10kV5254E L H0 252 | 110KV AHI AT AE H b 11189 120.1
KA T EPNERIEAGE N 10kV5297F JL 4k 220k VT 5t % AL L 5490.6 727.78
NG EPNENFAGE Nl 10KVSI7 FKE 152k | 110KV K PR 8 A8 HL ik 9560.9 2063.82
KT EPNERPAEE: N 10kV409%% L 2% 110KV A% FE A8 F vl 7413.2 1672.26
KIF T EPNGRRAGE N 10kVA074HAT b 15 2k 110KV I 7R A% B il 7413.2 206.96
KR PN AR N 10kV 5063 it 2% 110KV & A4 % AZ Hi b 6980.2 1581.76
KA T W K [] 7 2 7] A3 10kV517H 22 4% 110KV E A HAZ L b 7413.2 479.96
KR T PN N 10kV 5074145 2% 110KV 1A A% H, ik 7413.2 1490.06
KA o K ) 71 2 ) A3 10kV 416175 7 2k 110KV 35k 75 22 F il 11189 1079.8
KA FE] I A (] 77 2 7] A 5 10kV53578 111 2k 110kV PG 32 F vl 11189 531.6
KR o K [ 77 2 ) A 10kV535%) 25 2 110KV b U A% Fe il 9942 1234.7
KT EPNEL AR ¥ 10kV 4294 52 2% 110KV 4 4% F il 9578.2 273.96
KIF T EPNERIRAGE N 10kV 4154 F 15 4% 110KV 3k < 22 F vl 7413.2 1107.96
NG PN AR RN 10kV52108T SR 2548 | 220kVIT K A% i il 7413.2 2205.76
NG EPNERIRAGE N 10kV5111JF 3015 2k 220k VT It AR FEL 9942 898.6
KR ] K [R] 7 4 7] A 34 10kV5310ff 42 5 £k 110KV i A% B il 9560.9 487.42
KA W K ) T 2 T A 10kV51137K 15 4k 220KV Y % AR H Sl 11189 1277.57
KIF T EPNERIRAGE N 10kV41131H FEZR 110KV 7 45 22 F vl 9578.2 1749.96




20255 (=FK) KRASKBREREHITHFRER

PR mmastsam BB TR mamy | CCRRIRAMERR | AT
NGl L PNEPARF N 10kV424t #E 24k 110KV 35k V4 22 F vl 9578.2 1671.06
KT EIEPNE RPN 10kV 4065 1k 2k 110KV A% FE A8 H, il 11189 2009.3
KET BPNERALGF N 10kV4384L 2 5 £k 110k V 3, 78 A5 B 11189 1231.9
NG FE] I A [] 77 2 7] A 5 10kV 5461 2 5 45 110KV R PR B AE F v 7413.2 1297.96
KFETH NG AGE: N 10kV531175 515 4 110kV 75 FR AR HL 3 9942 638.4
NGl ] % A [ 7 2 ) A 5 10kV4397 H12 5 2 110KV 35k P4 22 F vl 6980.2 2489.76
KA T EPNERIAGE N 10kV52127b 1 2% 110KV 0 I A2 H il 9942 888
NG BEE CPN G AR B N 10kV521 74 25 25 110KV 75 PR AZ H i 9526.3 1441.38
KR T FE] ) A (] 77 2 7] A 58 10kV526 7°2 5 £& 110kV PG 22 F vl 7413.2 590.66
NG EIEPNERIAEE N 10kV5234R £ 2k 110KV K PR iK% A% FE 3l 9578.2 1436.26
yNGiRif] EPNGRVAGE N 10kV 4207 FH 25 110KV 3 7R A% F il 7413.2 931.56
KA T EIEPNER AR N 10kV4167H b 2k 110KV 7 4§32 F il 5265.4 1542.61
RET | B R K R T A & 256 10kV51374 SR 2% 110KV 75 1AL H i 11189 570.2
KET WX K ] 7 2 7] A 10kV5129b 815 28 110kV VD U& A5 3k 9578.2 2704.93
yNGiRi] I ) ks [ 7 2 ) A 3 10kV51127) 15 2k 110KV Vb & A% v ik 9560.9 1621.79
NG REE N G TPA P i 10kV41474 FE 25 110KV B R0 A% Fi il 9578.2 3129.16
KA T EPNER AR N 10kV41197 2 28 110KV 7 4532 F il 7413.2 2457.04
KA FE] [P K [ 7 2 7] A 3 10k V4061l i 5 25 £k 110KV B R0 A2 Fe il 5265.4 3263.12
KA o K ) 71 2 ) A3 10kV 5175 15 28 110KV 5% % A% F il 5490.6 3337.98
NG [ [ K [ i 2 ) A 3 10kV405 < 115 £k 110KV 3 7R 3% Fi il 6980.2 1242.76
KA ] X S [7) T 2 ) A 35 10kV4213 7 7k 152k 110kV iy kAL Hi 7413.2 3083.06
KA BPNERALGF N 10kV425 7R I 2% 110KV 3 < A% L 33 6096.8 0.04
KIF T PN AGE N 10kV5112M)1#51 5 2 220KV T I % AL L 9560.9 0.02
NG B C PN G AR B N 10kV41974 JF1 45 2k 110KV B R0 A% F, il 5265.4 0.02
NGl EPNERIRAGE N 10kV/534 774 ¢ 2% 110kV P4 22 F vl 9560.9 0.02
KEIT | R KR T A & A5 10kV4261¢ %25 2 110KV 43k A= A% H i 9560.9 0.02
NG I CPN G AR B N 10kVA244 /N 25 2 110KV 3 7 4% Fi il 9942 0
RET | ERK R 2 = A 10kV5147 JT 2445 110kV E A % A2 H il 9942 0




20255 (=FK) KRASKBREREHITHFRER

PR mmastsam BB TR mamy | CCRRIRAMERR | AT
KA I PN TR ¥ 10kV4127 Jr 2k 110KV 7 2822 F vl 11189 0
RET | E R 1A 7 A5 10kV515F JT 144k 110kV A A4 B AZ HL v 9942 0
yNGiRif] EIEPNE A E N 10kV4217 5615 2k 110KV 3 7R A% Fi il 9942 0
KA FE] I A [] 77 2 7] A 5 10kV519HT SR 15 £ 220k VT I AL FEL 11189 0
PN I o K [ 7T 2 ) Al 10kV54274 225 25 110KV P8 FRAZ il 11189 0
yNGiRi] EPNGR AR N 10kV5213#0i52 5 2k 220KV T 5 i AL F ik 9942 0
NG I ] K [ 77 2 7] A 3 10kVAL3fE L AL IS 2R | 110KV AR A8 Hi bk 11189 0
pNGiRi] FE] [P ks [ 7 2 7] A 3 10kVS17I IR 15 28 | 220KV % AL Lk 5490.6 0
RFET | E R R 2 = A 10kVA09 A HE 25 110KV 45k AR A% Fi v 5490.6 0
NG [ X ) 7 2 7] A 3 10kV/522; Fll £ 110KV 7 4% i il 7413.2 0
yNGiRif] PN AR N 10kV 54635 12 5 25 110KV B A% F il 7413.2 0
NG EIEPNE AR N 10kV 52178 78 4£ el £k 110KV 3 R A% Hi ik 7413.2 0
pNGiRi] FE] [P K [ 7 2 7] A 32 10kV 5435 57 2% 110KV B A2 Fe il 7413.2 0
KA EE PN C R E/AR I N 10kva16]b 4k 110KV 3 7R 4% F il 9578.2 0
KA T ] I A [] 77 2 7] A 5 10kV 5224 H2 5 4% 110KV % % A% B 3l 7413.2 0
YNGR EI PN A F N 10kV54374 525 2 110k V P51 A% F v 7413.2 0
NG I [ K [ 7 2 ) A 3 10kV 526 Hi £& 220KV 5 i AL H 3k 7413.2 0
YNGRl [ X K [) 77 4 7] A 3 10kV5367% = 25 110KV P FRAE B il 7413.2 0
R [F T EPNENIFACE N 10kV53781 15 28 110KV B A% Fi il 7413.2 0
KA FE] I A (] 77 2 7] A 5 10kV5110fF N1 5 2k 110KV fiff FE A2 F il 7413.2 0
yNGiRif] FE] [0 ks [ 7 2 ) A 3 10kVA21 551 5 2k 110KV 5 74 A% F il 9560.9 0
KA BPNERALGF N 10kV417 7R 7] 2% 110KV 3 < A% L 33 9560.9 0
KA T EIEPNERIAGE N 10kV518pE T15 £k 110KV K BR % A% H i 5265.4 0
NG FE] [0 ks [ 7 2 ) A 10kV53117b 7k £k 110KV b U A% F il 9560.9 0
NGl EPNERIRAGE N 10kV512[F] == 2k 110KV & A% 4% H ik 6980.2 0
pNGiRif] T [0 K [ 7 2 7] A 3 10kV53331 —1'5 4k 110KV 7 g A% H b 11189 0
YNGR (] 4 K [R] T 2 ) A 10kV5274#52 5 2k 110K VA 2 A% F b 11189 0
KA T EIEPNE R AR St 10kV513 K R 2k 110KV K PR 1% A2 HE 3l 11189 0




20255 (=FK) KRASKBREREHITHFRER

PR mmastsam BB TR mamy | CCRRIRAMERR | AT
NN ] X K [ 7 2 ) A S 10kV505 5 <2k 110k V! 72 8 A7 H 5265.4 0
KT EIEPNE RPN 10kV41157 % 2% 110KV 7 45 32 H, vl 9560.9 0
KEIT | B R T2 & A8 10kV 41474 5 25 110KV 5 74 A% F il 9578.2 0
KA FE] I A [] 77 2 7] A 5 10kV43172 [Xi2 5 4% 110KV 33k 75 22 F vl 9578.2 0
RET | R T2 7 A5 10KV fif 414245112 110KV fift 42 H 3 9942 0
NG EPNERIAGE: N 10kV512 4 110KV 7% % A% F il 9560.9 0
NG I ] K [ 77 2 7] A 3 10kV511H 514k 110kV & A 2% 4% H il 9578.2 0
NEL EX I RN IR EART N 10kV531 L1 5 £k 110KV P4 FA A% F il 11189 0
RFET | E R R 2 = A 10kVA19 4R HE 25 110KV 45k AR A% Fi v 9942 0
RIFT | E R KR T A 5 A 10kV52474 25 2k 110KV 7 7 A% F b 7413.2 0
yNGiRif] EPNGRVAGE N 10kV 40411 Z3 2% 110KV 3 7R A% F il 6980.2 0
K [ T EIEPNE AR N 10kV 538/ il £& 110KV 3 R A% Hi ik 7413.2 0
RET | B R K R T A & 256 10kV 42074 T 25 110KV 7 2B AL H, b 5265.4 0
KT EPNERPAEE: N 10kV505 7 B % 2k 110KV 7] A2 F vl 9578.2 0
YNGRl T [ K [ i 2 ) A 3 10k V518751 2% 2% 110KV 1A 4% H, 3k 9942 0
RFET | B R K R T 2 5] A5 10kV5174#51 5 2k 110KV 2 A% F i 11189 0
KA T EIEPNE NGRSt 10kV 52711t 2k 110KV 1 BH 22 F vl 7413.2 0
REIT | R KR T A & A5 10kV50975% 22 2% 110K VMl 5 B AR B v 7413.2 0
KT R ETH AT AES | 10kV5110/KZEFI 154 | 220KV IT U5 B AL HL il 11189 0
KA FE] I A (] 77 2 7] A 5 10kV503/K 2822 25 48 | 110KVl 5 % A% 11189 0
RFET | R K R T 2w A 10kV435% 25 4 110KV 5 74 A% F il 9560.9 0
pNGiRi] EPNGR AR N 10kV 42454 i 2 110KV 4 4% F il 9942 0
KA T EIEPNERIAGE N 10kV503F P15 4 110KV H A % A% H ik 9578.2 0
NG I EE PN A B N 10kV515H #1152k 110KV B 70 A% Ha 3 11189 0
NGl EPNERIRAGE N 10kV 516701 2#4% 110KV V0 I 22 F vl 5490.6 0
NGk EE PN G AT P N 10kV 407 J34; 110KV 7 2B AL H, 3 6980.2 0
NGl i REE | N A P i 10kV506 5% 74 £ 110KVl 5 B A% R v 9560.9 0
yNGiRif] [ X A [) 77 4 7] A 35 10kV5367) ZE 2 110kV P04 A B 3 11189 0
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NGl L PNEPARF N 10kV524 1125 £; 110kV P4 22 F vl 9560.9 0
KEIT | B R A & A5 10kV418F5 125 2 110KV 7 X8 AL H, 3 7413.2 0
KEIT | B R T2 & A8 10kV4084% HE/NX 2548 | 110KV A% HEAR Hi i 11189 0
KIE T NP N 10kV 5312 i 28 110KV fifé FE A2 F il 9560.9 0
KT EIEPNE RPN 10kV42127 B2 5 2% 110KV it 35 A% FE il 11189 0
NG FE] ) K ] 71 2 ) A3 10kV 415571 2% 110KV A% FE AR i vl 6980.2 0
KA ES NG R AR N 10kV 51270 JfH £& 110KV 71 FH A2 H, ik 6980.2 0
NG FE] [P ks [ 7 2 7] A 3 10kV5363T 42 2k 110KV 3 B A% Fi il 7413.2 0
KA FE] ) A (] 77 2 7] A 58 10kV 549357 it 2k 110KV 7 g A2 F il 7413.2 0
YNGRl [ X ) 7 2 7] A 3 10kV/5387/b £ 110KV Vb & A% H il 11189 0
KEIT | R KR T2 &) A9 10kV41147 {12k 110KV ot 35 4% F il 9578.2 0
RIFT | ER KR T2 = A 10kVA11E R 152k 110KV 45k 78 A% Fi v 9560.9 0
PN BEE PN G AR B N 10kV 4358 FR 2 110KV 4 [ 4% B il 9942 0
KET ] WX K ) 1T 2 ) A 3 10kV43135 3 28 110KV A [ A5 B 3 7413.2 0
YNGRl T [ K [ i 2 ) A 3 10kV513H1 25 £5 110KV A1 BH A% H, ik 9560.9 0
RFET | B R K R T 2 5] A5 10kV408%: K 2% 110KV 458 AR A% FE v 5265.4 0
KA T EIEPNE NGRSt 10kV 4054 - 2% 110KV 7 2R AL F il 9578.2 0
REIT | R KR T A & A5 10kv4231 k245 2k 110KV 7 30 AL H b 5265.4 0
NG B C PN G AR B N 10kV504 5 P25 4k 110kV & A % A% i il 9942 0
KA [ [ K [ i 2 ) A 3 10kV & k4508 110kV H 74" A i v 9578.2 0
NG REE | PN TPA P N 10kV & %: 4516 110KV A4 AL H b 7413.2 0
NG I CPN G AR B N 10kV41167 15 2% 110KV 7 30 AZ Fi v 11189 0
KA T EIEPNERIAGE N 10kV524% 6.2k 110KV %% 3 22 F il 8660.3 0
NG B C PN G AR B N 10kV51470 145 110KV b U A% F il 7413.2 0
NGl FE] ) A () 717 2 7] A 5 10kV5117 %% 2% 110kV P4 22 F vl 9560.9 0
KT EIEPNE RPN 10kV505 Hi i 2k 110kV E A % A% L il 9578.2 0
NG I CPN G AR B N 10kV515 7 25 110KV 74 R A5 Hi il 9578.2 0
YNGR IEIEPNENE X A 10KV 51271 4 2k 110KV | H- 22 F il 10565.5 432.6




20255 (=FK) KRASKBREREHITHFRER
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NG PN LT R L A 10kV505 7 5 2% 35KV T J5 A2 i il 5005.6 135.98
RIR] T | 6 1% A 7] 7 397 2 X A i A ) 10kV 7 Hii £ 522 110KV 2% 4% H i 10911.9 212.96
R TR T | L X A ) T 0 2 XA v 28 10kV511 %% R 2% 110KV 7 5 A% Fi ik 4382.1 988.48
KIE AT | R 5] 7 38 52 X A H A 7 10kV40471E 1A 2% 35k VA el T AR L 10911.9 62.92
R TR | I 190 A ) T 3 2 X A v 28 10kVH #i£k 522 110kV H HEAZ H i 9578.2 77.96
KIE T | MK E e XAt A =] | 10kV 51587 % 1T [HI 28 35KV T 2R AL L il 10911.9 761.32
TR T | 1R X ] 71 397 22 X A Hh A ] 10kV/507 L ffk 2% 35KV i i A HL il 6668.4 1106.42
KR\ R[] ok X ik m] | 10kVS2Lr & T [A12k 35KV 7 SR ALR L i 10911.9 1600.02
KA | K [ T 38 2 (XAt H 2 ) 10kV51287 1k 2k 35KV H7 2R AL i il 9526.3 66.84
KETN (ER KRG HEX A E AT | 10kv40461 [ o 2k 35KV A el T AR L 10565.5 200
NGB PNE D e VA 10kV514:57 1 4% 35KV T 2R AL L il 10911.9 383.32
NGNS A 10kV521% it 2% 110KV 7 5 22 F il 2598.1 57.78
R TRITT | P94 A ) T 246 X A3 v 2 ] 10kV/5133% JE 2% 35KV 7 AL L i 10911.9 351.62
KIETT | KR HE XA AR | 10kv52281 & 11 [H14k 35KV T 2R AL HL il 2598.1 1608.78
KIE T | R 5] 7 38 52 X A H A 7 10kV506 i < 2% 35KV i J5 A2 i il 10911.9 1532.72
KR | I K [ i 38 2 [X ik i, 2 ) 10kV517£E40 2k 110KV H A2 F il 10911.9 337.02
NG PN LT R L A 10kV 4317 & 2% 35KV il &AL L ik 3204.3 0.04
KR | I K [ i 380 2 [X Ak H 2 ) 10kV4318E-HE 2% 35KV il & A L ik 3810.5 0
KA | K 7 7 38 2 (XA H A ] 10kV4319f I 2k 35KV il & A L il 3810.5 0
DR TRI T |l 19X A ) T 0 20 X A3 v 2 ] 10kV4315H % 28 35KV i 5 AL B i 2598.1 0
R IRITT | I P9 A ) T 2 X A3 v 8 ] 10kV H 15 1#4k512 110KV H FE A2 H ik 9578.2 0
UNELRIEIEPNEE e RN WA 10kV 524587 £ 2% 35KV 7 AR F v 10911.9 0
RIR] T | 16 19X A 7] 71 397 28 X Ak H, A ) 10kV511HHH 2% 35KV T R AL H il 4070.3 0
R IR) T | P9 A ) T 24 X AR v 8 ] 10kV5233#1 H £& 35KV 2R AL L il 10911.9 0
UNCLRIEIEPNEE e SRR WA 10kV511H{ it 2% 110kV i H-22 F il 10565.5 0
IR T | 16 19X A 7] 71 397 2 X A A ) 10kVA4041016 £H £k 35kVAE fd H AR HL 3810.5 0
KIFE T | KR TR XA AR | 10kv5017 bR A28 35KV it i A L il 5109.5 0
YNGR IEIEPNENT e A 10kV512% F1 142k 110KV % 5 22 Fi il 2598.1 0
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UNCLRIEIEPNE e SRR 10kV 51971 )5 2k 110KV 1] A2 F vl 9526.3 0
RIR] T | 161X A ] 7 397 246 X A L 2 ) 10k VI el 1#4:527 110KV Aif 2% Ha, 3 9768.8 0
R TR T | L X A ) T 0 2 XA v 28 10kV40497¢ 1 2% 35kVAE [l T AR Ll 6581.8 0
R IR] T | 16 19X A 7] 71 397 28 [X Ak H A ) 10k V3T M 4516 35KV 3 o AL L il 9578.2 0
ORI T | 1T o A T o X ik v 4 ) 10kV515H Ph£% 110KV H A2 L bk 10911.9 0
UNELRIEIEPNEE e SRR WA 10kV43137% 5B 2k 35KV i &AL il 10911.9 0
KIET | KR 2 KX A 2 10kV 5105 H 2k 110KV 1] A2 F, bl 9526.3 1055.44
RIRITT | B P KR T 2 X XA f 8 ] 10kVHENLZE 517 110KV [ i A% Hi 3l 4572.6 2026.38
KIFTT | KR T 2 XA H 2 ] 10kV 485553 Hi 2% 35KV 1R A% i il 2598.1 2052.99
KIET | WK Z KX A2 10kVfiE 78 46511 110KV [7] 122 F vl 4572.6 3359.48
RTE T | X ) 77 2 R XA v 28 ] 10kV/505 & 3 2% 110KV IR A% R i 5109.5 1000.3
KIETT | R KR Z XX AL A 10kV5157m] 15 2k 110k V|- HLjn A% B ik 9526.3 100.24
KIE T | KR T = XX LA R | 10kVS14 7 A i 2% 110KV B A2 Fe il 6841.6 1147.68
KIET | KRz XA 10kvb) £511 110KV LA 22 F vl 9578.2 2421.86
KIETT | R KR 2 XX AL A & 10kV 7R P2k 513 110KV 7% b5 A% B il 6841.6 1329.68
KETT [ W2 KX g AR | 10kv A Sl 2524 220kV = J- 748 HL il 8660.3 1085.94
KIE T | K 2 XA 2 ] 10kV513 7 5 £& 110kV i H22 F il 10045.9 265.52
KIET | WK Z KX A2 10kV N ;518 110KV [7] 122 H, ik 4572.6 701.48
KRN T | X TR 1 25 X)X A H A ] 10k V5061 i 2#2% 110k V74 Ui A% F il 5681.1 105.48
KIE T | K[ 1 25 X A H 2 ] 10kV %5 fH 45111 110KV % 5 22 F vl 5265.4 356.02
RIRITT | B P K ) T 2 X XA v 2 ] 10kV 5214 |- 2; 110KV 2 A% F 3 6928.2 626.16
YNGR PN RS A 10kV523 E 452k 110KV AR F 742 sl 9526.3 796.79
RIETT | FE P [R] 77 2 K] [X A L A 10k V5108 [ 2% 110KV i 3% B 3l 5369.4 365.32
KRN | X TR 1 25 XX A L A ] 10kV5213 = 41 2% 110kV Z [X] 4% Hi, i 5109.5 1423.8
YNGR PN PR R A 10kV 2% 3 ;512 110kV M HEAZ i i 9526.3 12.74
KIFITT | K R T 25 ] XA H 2 ] 10kV 7% 78 2#4:525 110KV 7% J5 4% Fe il 5681.1 2145.88
RIRTT | B P KR T 2 Y] XA v 8 ] 10kV4541214% 35k V5 [l AL FL 3 9526.3 1148.74
PN RIEE PN R/ 10kV/505 7t A% 2% 110KV 74 5 U A% B il 3793.2 67.46
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KIET | FE KR Tz ] XA H 2 ] 10kvb 34523 110kV b4 22 F vl 9526.3 898.24
KIFTT | K R T 2 XA H 2 ] 10kVZ B 4518 110KV 7% J5 A2 Fi il 6841.6 649.98
RIE T | B A [) T 25 R] XA H 28 ] 10kV41774 2% 110KV B R0 A% Fi, il 9578.2 422.06
KIETT | R KR 2 X X AL LA & 10kv427127 1L 2% 35KV Bt S /N AR Ll 5975.6 260.18
KIFETT | K R 25 XA H 2 ] 10kV/ 75 3 £k 419 110KV 45k 75 22 H, bl 6841.6 752.38
KIFET | KRz X A & 10kV4564R 7K 2k 35kV F 5% el A% FL i 9526.3 347.03
KIET | KR 2 KX A 2 10kV 7N &R 4515 110KV I FE A2 H bl 4278.2 202.96
RIRITT | B P KR T 2 X XA f 8 ] 10kV 4065 111 242 35KV | 55 28 AR ik 5369.4 1695.42
KIFTT | KR T 2 XA H 2 ] 10kV i FE £ 526 110KV [7] [ 22 F vl 4572.6 3034.78
KRN T | W AR Tz XX A F | 10kvA4278Hk A1 74 £k 35KV B 2K /N AR L 10911.9 171.12
RTE T | X ) 77 2 R XA v 28 ] 10kV/5087 £ 2#2; 110KV G 5 s A% R v 4572.6 186.68
KIETT | R KR Z XX AL A 10kva267 - 4; 110KV 35k 75 22 F, il 9526.3 1658.54
R IE T | X A ) T 25 X)X AR v 28 10kV 4223 T 2% 110KV i 30 AZ H b 9526.3 824.54
PNCLRIEE PN A R WA 10kV801 14k & 35k VA A VA AL L 4676.5 21.7
KIETT | R KR 2 XX AL A & 10kV = 244526 220kV = AR Lk 8660.3 1303.51
KET | ERMKFE Tz KX R AR | 10kv4273R {5 2k 35KV B /N AL FE v 10911.9 850.82
YNGR PN PR A 10kV527 = i 2k 220kV =32 HL 3 4572.6 1062.38
KIET | WK Z KX A2 10kV % 5 4 5211 110KV 7% 15 4% Fe il 8660.3 333.04
RIAT B KA T 2 P XA 2 ] 10kV523 = 7= 2k 220kV = JFA8 H 5109.5 426.2
KIETT | B R K A T 2 ] XA E 2 ] 10kV R H 44857 35KV [ SR AL HL il 9578.2 481.56
KRN | X KR 2 XX L A 7] | 10kV AR 2K 2 1448512 110KV 1A A% Hi, ik 6841.6 1197.48
KT [E KRN R X AR AT | 10kv4134 5K 45 142 35kV I 5 FE AR HL i 9526.3 356.04
KIETT | R KR 1 2 XX AL A 10kV4515°F-HE 2% 35kV F 5 el A% FL iy 5109.5 625.9
RIE T | B A [) T 2 R) IXA H 28 ] 10kVAHI K 1442524 110KV I VAT A% F, 3 8660.3 74.24
YNGR PN RS A 10kV 4853 1 B4 £k 35KV [ SR AL HL il 7967.4 864.57
KR T | AR T 2 XX A R | 10kv4124% 5K 47 244 35KV | 58 8 AR ik 5369.4 70.02
RIRTT | B P KR T 2 Y] XA v 8 ] 10kV5117 2 14#2; 110k V74 il A% F il 4572.6 137.98
PN RIEE PN R/ 10kV/ 512775 %2 242K 110KV 74 5 U A% B il 4572.6 129.88
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KIET | FE KR Tz ] XA H 2 ] 10kV £ F£ 4523 35kV £ 1A% i il 9526.3 97.44
KRN | [ X TR 1 25 X)X A 2 ) 10k V5087 7 2% 110KV A 2% F, 3 9526.3 1681.34
KIRI T | 1 K TR] T 2 X XA 2 ] 10kV517 = R 4% 220KV = A% H il 9526.3 1661.64
KIETT | R KR 2 X X AL LA & 10kV 42475 10 2 110KV 75 A8 A2 F il 9526.3 1369.44
YNGR PN PR A 10kV5111 =774k 110KV Z [X] A2 Hi, il 5975.6 42.78
YNGR EPNE PR A 10kV519 =2k 220kV =32 HL 3 10911.9 636.22
RIRI T | 1 X K TR T 2 X XA A ] 10kV/503775 %2 142 110kV 74 il A% B 3l 4572.6 243.58
RIRITT | B P KR T 2 X XA f 8 ] 10kV i Ui% £ 525 110KV [ i A% Hi 3l 9526.3 354.54
KIFTT | KR T 2 XA H 2 ] 10kV5107 5 242k 110KV P 56 U A% F il 5681.1 259.78
RTETT | X ) 7T 2 X XA v, 2 7] 10kV/ 5098 5% £& 110KV i 4% H il 3429.5 728.7
KRN | [ X K 7] T 2 X)X A 2 10kVZEIR £ 514 110KV 1] A% F ik 2632.7 1985.66
IR |1 X KR 77 2 X)X A E 2 ] 10kv522]k 2% 110KV AL A A% H ik 10219.1 410.18
KIFAT [FE M KRz X X A A & 10kV524 K 4k 35kV 238 i il 7967.4 109.12
KIET | KRz XA 10kV = FlE1#£8512 220KV = A% H ik 8660.3 2115.94
KRN T | AR Tz XX AR | 10kvA4115K B 2% 35kV_F 53 FE AR H ik 8400.4 611.82
RIE T | A [R) T7 25 R0 XA f 28 ] 10kVE K £ 4513 35KV 7 5¢ [l AL Ll 5681.1 61.48
YNGR PN PR A 10kV i %2 45521 110KV [7] 122 F vl 4572.6 971.08
KRN T | [ X TR 11 25 X)X A A ) 10kV41375 7K 25 110KV B X0 A% Hi, ik 8660.3 450.54
KRN | [ X K 7] T 2 X)X A e 2 10kV/ 52270 15 2% 110kV- | HELyAT A% H il 6322 481
KIETT | B R K A T 2 ] XA E 2 ] 10kV5114 T £k 110KV % A% Fi v 9526.3 325.14
RIRTT | X ) 77 25 X0 XA v 28 ] 10kv k2 514 110kV JEAT AZ Hi i 9526.3 449.24
RIR T | 1 X K TR] 1 2 X XA L 2 ) 10kV513-b R £& 110kV JEAT AZ Fi i 6322 664.1
KA T | K [ T 2 X XA i 28 ] 10kV51370] F, 142k 110k V-1 HLjn A% ik 7326.6 33.78
KET | EFKFE Tz KX AR | 10kV5484 I 25 110KV B A2 F il 6841.6 985.97
KIET | MK Rz X XA & 10kV405 5 /N 220KV £ ZE 5 AR FL 6841.6 27.38
KIFITT | K R T 25 ] XA H 2 ] 10kV503H) HE 2§ 110KV i 4% B il 5109.5 1290.9
RIRN T | 1 X K TR] 1 2 X XA L 2 ) 10kV54235T H £& 110k V 7 g A% F v 7621 957.1
KIETT | WK 12 X A 2 ] 10kV 5 4> 4 526 110KV %% 35 22 F il 6980.2 465.26
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KIETT | KR 17 2 XA H 2 ] 10kV E NN CE 522 110KV 7R F 7% H 9526.3 2269.84
RIRN T | 1 X K TR] T 2 X XA L 2 ) 10kV50777% 4 144 110kV 74 il A% B il 4572.6 89.28
KRN | [ XK 7] 1 2 X)X A 2 10kV £ £ 522 35KV %A% Hi il 9526.3 0.04
IR | 1R X R 77 2 X)X A E 2 ) 10k VI £ 2% 110KV i 3% B 3l 8660.3 0.04
RIFITT | B A R ) T 2 X XA v 2 ] 10kV521L15% 2% 110KV AL A A% Hi ik 9526.3 0.04
YNGR EPNE PR A 10KV 51741 % 242k 110KV 117 A2 F vl 8660.3 0.04
KIEI T | KR T 2 XX R A A | 10kv543[KHfE2 5 4% 110KV A PR A% Fi b 8660.3 0.04
RIE T | ) T 25 X XA E 28 10kV VP FCZk529 110KV b U A% F il 8660.3 0.04
KIETT | KR 12 XA 2 ] 10kV F-F 474k 110KV I FE A2 F vl 8660.3 0.04
KIET | WK Z KX A2 10kVHT JL4k 110KV I FE A2 F bl 8660.3 0.04
RTE T | X ) 77 2 R XA v 28 ] 10kVA5 144515 110KV 2 A% Fi 3 8660.3 0.04
KA T | K [ T 2 X XA i 2 ] 10kV = & 2425521 220kV = A8 HL ik 8660.3 0.04
RIRITT | B P KR T 2 X XA v 2 ] 10kV404Lh Hl 1#2% 220KV 1 ZE 75 AR L il 4676.5 0
KIET | KRz XA 10kVIf 4518 110KV I FE A2 F vl 7621 0
KIETT | R KR 2 XX AL A & 10k Vi k£ 523 110kV-|- HLjr] A% B 7326.6 0
RIRTT | B P R ) T 2 Y] XA f 8 ] 10k Vi 5E 4k 525 110kV- HLyA] A% F il 7326.6 0
KIE T | K 2 XA 2 ] 10kV5157 FK 142k 110KV 74 5 Ui A% F il 4572.6 0
RIRI T | 1 X KR 11 2 X XA L A ) 10kV 22 PR 2k 523 110KV 74 5 Ui A% B il 4572.6 0
KT [FE KR Z K XA A & 10kV5087: 4% 110KV I FE A2 H il 2598.1 0
KETN [EM KRN ZFRXEE AR 10kvE RK2#£k4512 35kV T 5% el A% FL i 5681.1 0
RIRTT | X ) 77 25 X0 XA v 28 ] 10kV 5220 HiL 242 110kV - HELyA) AZ B il 5681.1 0
RFET MRS = KX AR | 10kv521%HE L 2% 110k V74 Ui A% F il 4572.6 0
KIETT | R KR 1 2 XX AL A 10k Vi £ 524 110k V-1 HLjn A% ik 4572.6 0
KIFAT [BE KR Z X XA A & 10kV —°F-££ 528 220kV = FA8 H 4572.6 0
KIET | MK Rz X XA & 10k V504774 1 2% 110KV Y 56 U A% F 3550.7 0
RIFITT | B A KR T 2 Y] XA v 2 ] 10kV R £k 48518 35KV [ SR AL L il 3793.2 0
RIRTT | B P KR T 2 Y] XA v 8 ] 10kVAll sC2# 45524 110KV % % A% Fi vl 4278.2 0
KIETT | R K R T 2 ] XA E 2 ] 10kV 40755 1% 242k 220kV B ZE 5 AR FL 2632.7 0
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KR T | [ X K 7] 1 2 X)X A L 2 10kV 7 & 26516 110KV 2% 5 22 F il 5681.1 0
RIRN T | 1 X K TR] T 2 X XA L 2 ) 10kV F K £k 457 35KV F 5 gl AR L 7621 0
RIE T | B A [) T 25 R] XA H 28 ] 10kV514H1 1 25 220kV = HH AR ik 9526.3 0
KIETT | WK T 2 XA A A 10kVIH S 144514 110k VA ZE % A% HE 3l 4278.2 0
R IR T | X A ) 77 2 X0 XA v 28 10kV 7 £ 1448545 110KV 7 g A% H b 7621 0
KPR | A [ 77 2 R0 XA H 28 10k V415 2440525 110K VAT 7% B A A b 8660.3 0
KIET | KR 2 KX A 2 10kV5093 A £k 110KV P4 HE A% a3 10565.5 0
RIRITT | B P KR T 2 X XA f 8 ] 10k V7 £ 2#48535 110KV 7 g A% Hi, b 7101 0
KIETT | KR 12 XA 2 ] 10kV I A1 4516 110KV [7] [ 22 F vl 7863.5 0
RIFITT | AR T 2 Y] XA v 2 10kV525 =R £¢ 220kV = FH AL HL vk 9526.3 0
KRN | [ X K 7] T 2 X)X A 2 10kV5137 R 2% 110KV 74 iU A% F 3l 11431.5 0
KA T | K [ T 2 X XA i 2 ] 10kV = I 1#£5518 220kV = A8 HL ik 4676.5 0
KRN | [ K 5] T 2 X XA i 2 10k VR SR £k 4856 35KV [ SR AL HL il 9526.3 0
KIET | KRz XA 10kV503 /N 110KV 7] A2 F vl 9526.3 0
KA T | R K ) T 2 X XA H 0 ) 10kV514F 7K 2% 35kV F 38 i il 5109.5 0
RIRTT | B P R ) T 2 Y] XA f 8 ] 10kV/524 74 £ 110KV G i s A% R v 4572.6 0
KIE T | K 2 XA 2 ] 10kV 522711 2k 110KV 7] A2 F vl 2632.7 0
KIET | WK Z KX A2 10KV il 1#4:513 110KV i 4% B 3l 8660.3 0
KIFETT | K R 1T 25 XA H 2 ] 10kVH fH12# 22516 110KV I FE A2 H il 8660.3 0
KIETT | B R K A T 2 ] XA E 2 ] 10kv407 I 55 FE 2% 35kV I 5 FEAR FL i 5265.4 0
KET [ERKFE T =KX AR|  10kVS33KHEL S 4k 110KV R PR AE H 3 8660.3 0
KRN | [ X K 7] T 2 X)X A e A 10kv406 5 2k 35kV I 5 FE AR HL i 10911.9 0
KIET [ E KT KX AR | 10kV52004 4E 2445 110KV P 5 1 A% Fi b 4572.6 0
RIE T | B A [) T 2 R) IXA H 28 ] 10kV/51776 4E 142 110k V74 il A% F il 9526.3 0
KIETT | K[ 1 2 XA H 2 ] 10kV529%% £ 4% 110KV % 55 22 F il 4572.6 0
RIRI T | 1 X K TR] 11 2 M XA H A ) 10kV## 1254315 110KV A% FE A% H i 10478.9 208.12
RIRN T | 1 X K TR] T 2o ] XA L 2 ) 10kV 5211 78 2425 35KV AR HRL il 11171.7 277.66
RIRI T | [ X K R] T 2 XA e 2 ) 10KV 534 ik £ 110KV fifi 4% Hi, ik 10911.9 1615.72
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KET (EMKFESZMX AR | 10kV5314fF [dausk 110KV fiff FE A2 F vl 10911.9 1397.62
RIRI T | 1 X K] 11 2 1 XA H 2 ) 10kV442120% H 2% 3KV lﬁjiﬁ%g & 10911.9 744.16
KIRI T | [ XK TR] T 2 M XA 2 ] 10kV 442935, 5 £ 35kVR lﬁ"iiﬁk%g & 6062.2 1296.76
RIRI T | 1 X KR 17 2 ] XA R 2 ] 10kV804/& 5 2% 35KV J&] - FEAR H il 10911.9 462.02
RIRI T | 1 X K TR] T 2 M XA L 2 ) 10k V805 J [ 2% 35KV & 1 HE AR H 5265.4 54.02
RIRI T | [ XK TR] T 2 M XA e 2 ) 10K Vi el 262K 110KV fif FE A2 F il 8227.2 137.96
R | K= X AR | 10kVS11L# 251448 110KV i 4% Hi ik 11171.7 158.26
RIRI T | B P K] T 2 XA f 8 ] 10kV808/& — £ 35KV ] < HEAR L i 5265.4 911.02
KIE T | B R0 K [ T 2 M XAk H 2 ] 10kV803J# 1 4k 35KV J&] AR HL ik 6062.2 472.96
RIRI T | 1 X K R] T 2 M XA L A ) 10kV525%E 2= 2% 110kV 5, B =A% FE 3l 10478.9 3491.02
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yNED [ [ K L it 0 ] 10kV4088 T it £R 2k 35KV 5 AL FL 5906.3 234.54
KR ] [P K L ik i 2 ] 10kV516K H: B 2% 35KV 1) 5K V8 AL L i 5906.3 92.94
RET | EMREEEE A 10kV5127K /N R 25 35k VK 76 Ji] AR HL ik 3914.4 319.41
NG EIEPR Y 10kV515F fe 2k 35KV ) ZX V4 AL HL ol 5282.8 132.44
KA ] X A LAt H 0 ) 10kV52342 7] 342k 110k VB V] £8 A% il 9526.3 17.04
KT ] ) A4 it H 0 ] 10kV 51345 5% - 2k 35KV 7k P4 T AR FL i 5542.6 1092.98
KA T EIEPR =Y 10kV410167K 5K - £k 110KV K A2 H il 4780.5 248.8
RET | E MR R A 10kV513ZHi i 2% 35KV 1) S VA AL L 3914.4 70.02
K IR [ [ K L ik i ] 10kV/51370] £ £& 110KV i 1] B2 A% F il 5906.3 185.44
NG EIEPR =Y 10kV41087 JR £k 110KV K A8 F il 5715.8 489.54
KFEIT | R R A B A 10kV 41063 35 2% 110KV R EEAE Hi b 5542.6 1738.18
KA ] ) R 4 L it B 0 ] 10kV517 5 B 2k 35KV P 7] AL R i 10911.9 105.02
RET | R R AL A 10kV4053 . HL 12k 35KV FL 27 1748 HL 3 5906.3 105.04
K IR [ o] K L ik F 2 ] 10kV41015 5 1T [31 2% 110KV R H1AE Hi il 3914.4 1706.42
KIF T EIEPR YN 10kV 408107 il 8 £k 35KV i 2K it AL L 5542.6 583.18
REFET | EMREE A 10kVA4104K 35 T 712k 110kV R AH AL F v 5542.6 2405.37
KA T T o) A 4 it vl A ) 10kV5157K %E 2k 35KV 7k P4 AT AR FL i 3914.4 173.22
KA ] ) R 4 it R 20 ] 10kV539°F- iz Sk 2k 35KV 1AL H il 5906.3 158.84
KA ] o) A 4 it i A ) 10kV40662K T 2¢ 35k VoK R AL HL i 10911.9 1137.02
K[F] H [ [ K L ik 0 ] 10kV40814H A £k 35KV 5 AL FL i 4780.5 499.3
KR T ] o K% B L it i 0 ] 10kV/51170[ X 25 110k VR V] £8 A% i il 5282.8 375.69
KT ] I} R4 it P 0 10kV/ 5127 B 2% 110k VR V] £8 A% i il 8712.2 303.36
KT ] /) R 4 L it B 0 ] 10kV40813 /1t FE i £k 35KV i 2K ik AL L 5109.5 502.25
KET | E R A 10kV40672% {5 K 2% 35kVK Hr AL FL i 4780.5 73.3
NG [ [ K L ik F 2 ] 10kV4063K Hr < £k 35k VoK <AL FL i 3914.4 63.32
KR FE] [P K L ik i, 2 ] 10kV408975 5 i 2k 35KV 2% it AL L il 8712.2 415.66
REFET | EMREEE A 10kV5378 K4 2% 35KV -4 H il 3914.4 133.42
KIF T EIEPR YN 10kV 40547k 5% £ £& 35KV BL 2 1748 FE sy 7257.3 229.84
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NGl W) LA i 8 10KV 52455 ] 442k 110KV i 1] B2 A% F il 9526.3 0.04
KR o K L Ak H 2 ] 10kV514 &2 35KV 7 Y] AL L i 5906.3 0.04
YNGR W R B LA L A ] 10kV41010%5 11128 110kV R AHAZ F b 10911.9 0.02
K IR o K i EL it F 2 ] 10kV53337 - £k 35KV H7 132 i il 4624.6 0
KA o A LA N 10k VI 2] 142 521 110KV Ji] B2 4% il 8712.2 0
KA W) A LA i 8 10kV IRV 242K, 522 110k VR V] £8 A% il 8712.2 0
NG ] 4 LI v 8 7] 10kv40562K = £ 35KV AL L 7326.6 0
NG ) 4 L Ab v 0 10kV53548 % K £k 35KV 1AL L 3914.4 0
KR ] ) A4 L it H 0 ] 10kV5147% K i 2k 35KV 5 5KV AR FL i 5906.3 0
YNGRl ] 4 AU v 7] 10kV 4057 F 15 2 35KV FL A7 1748 HL 3 5542.6 0
YNGR W R B LA R ] 10kV5147 JL 25 110KV i 1] £ A% R b 8712.2 0
NED o R B L 3t F 8 ] 10kV40811#7 F11% £& 35KV i 2K it AL L 5282.8 0
NG PR B LA L ] 10kV4107/A1 T T [m14% 110KV K A2 H il 7326.6 0
KT o K L EL it F, 2 ] 10kV4051147 i <7 2k 35KV BL 7 1748 HL i 5282.8 0
KA T I K- LA H A ] 10kV4105 K ¥ 142k 110KV K FRAZ B il 7326.6 0
KA W A LA i 10kV 40598 — 1H 2k 35KV L 2% 1148 Hi sl 7326.6 0

KA T ) R LA H N ] 10kV41012 K ¥ 242 110KV R B4 AE Hi il 7326.6 0
KA T WA 5 e EL A i ) 10kV e JT 26529 110KV & S7 A% Fe il 11102.4 33.82
R [F T 4 BH v A3 P 8 ] 10kV514HL ) £& 110KV [A] 8 4% i il 11102.4 2359.27
yNE] }A o e LAk E 2 ) 10kV 4234 2k 110KV [H 4532 F vl 8642.9 1583.42
KR o B e L ik H 2 ] 10kV/517 % el £ 110KV 2 SR AZ H i 11102.4 84.42
KA WA 9 e L i 8 10kVFg b4 515 35KV I, P AL L il 11102.4 335.02
KIF T P o 2 A3 E 8 ] 10kV 42341 i 2% 35KV ER - AR FL i 8088.7 217.16
NG o4 B ey B ik H 2 ] 10kv4174k Tl 2k 110KV PH I8 A2 Fi ik 8920.1 1747.78
NGl o o A3 4 ] 10kV40767kK B h £k 35kV AR LI AR FL i 8088.7 634.86
KR o [ e L ik H 2 ] 10kV i 1 £k 4197 35KV IR BB AR HL 8088.7 412.56
pNGiRi] o 9 e A0 v 28 ] 10kV4129% 4 2k 35kV & SR AR Lk 11102.4 529.82
KIF T A B A E 2 ] 10kV42351R 7R 2% 35KV BRI AR FL i 9353.1 340.98
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NGl FE] %) B g LAt F A ) 10kV F %5 £ 524 35kV B AR FL 11102.4 353.02
KT | R e A o ] 10kV I B 6518 110KV 2 SR AZ H i 11102.4 560.62
KA I ] B g LAt H 0 ) 10kV515 NIRF2k 35KV HE AR HL 11102.4 445.32
KA T [ [ e L ik Fi 2 ] 10kV507#7 T 2k 110k V3T 4] £8 A% 3l 10565.5 588.9
KT ] }A) J5H v E fit R 2 ] 10kV503 7 Jiji €2 2k 35KV I P AL L il 8088.7 212.16
NG FE] o8] o v it i, A ) 10kV4075 |- & H 2% 35KV R SR LU AR FEL i 11102.4 581.62
NG FE] ) o it Pl A ] 10kV407105% %R 2% 35KV A SR Ll AR L 11777.9 18.32
KT | R A e o ] 10kV516F #H 4k 35kV B AR ik 6910.9 491.02
KR T FE] ) o v - ik Fl A ) 10kV40711 5% FE 2% 35kV AR Ll AR FL i 11777.9 468.92
NG FE] I o i it Pl A ] 10kV4125% i 2% 35KV % I AR Ly 11102.4 529.72
KA FE] RA) o e it i 2 ] 10kV4126% i 2k 35kVE SC R AR HL 11102.4 882.97
KA ] }A) [5F  E fit E 20 ] 10kV5147%; 3k 2k 35kV F B AR FL 11102.4 477.82
RET | R e A e o ] 10kV4077i% < 2% 35KV R IR LLAR L i 11085.1 249.68
KT ] }H) 5 e it H 20 ] 10kV4073 i ¥~ T £¢ 35kV AR Ll AR FEL i 11102.4 977.52
KT ] A 5 e it F A ] 10kVFH 4525 35kV B AR FL 11777.9 1161.52
REFET | E R R A A 10kV41987K & 2% 35k VAR R AR HL g 11102.4 144.72
NG FE] ) o v it Pl A ) 10kV4123%' $H 2k 35KV % AR FL i 8088.7 423.16
KA FE] [P [ e L ik Hi 2 ] 10kV %X 4523 110KV & S7 A% Fe il 11777.9 1253.52
KA FE] 68 o v it F, A ) 10kVA4133 K 2% 110KV 4832 H il 10375 3276.4
yNE] ] }H) o e it E 20 ) 10KV P4 £k 425 110KV [H 4532 F vl 8781.5 1790.5
KT | R e A v 2 ] 10kV4194 4 /T 2k 35KV IR BB AR HL 8088.7 732.36
KT | PR A e 2 10kVi# R £k 506 35KV 4 1 AL R v 9526.3 0.04
KA T FE] ) o v it Fl A ) 10kV50474 T2k 35KV 4 A2 FE il 11102.4 0.02
KA T ]R3 v it R A ) 10kV4353 7 3 2k 35KV it I A L il 11102.4 0.02
KA I P4 B e B it F 2 ] 10kV e B £k 513 35KV I, 7 AL il 11102.4 0.02
KT ] ]R3 v it R 2 ) 10kV51LHT IR 142k 110k V3T 4] £8 A% H il 11102.4 0.02
KT | R e A 2 10kV4356.5 5K 12 24 35KV i 3 AL Lk 11777.9 0.02
KA T FE] ) o v ik El A ] 10kv42254 Tk 2k 110KV [H 4522 F il 3377.5 0
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PR mmastsam BB TR mamy | CCRRIRAMERR | AT
KA ] }A) [ e it F 0 ] 10kV 414454 2k 110KV ¥ 41522 F vl 9353.1 0
KT | R e A o ] 10k VA R 9 142 511 35KV I, g AL L ik 6062.2 0
KET | B R B AL A 10kv4124% Jh2k 35kV & SR AR Lk 8088.7 0
KA T [ [ e L ik Fi 2 ] 10KV IR 51 242 510 35KV I P AL L ik 6928.2 0
RETT | R e A v 2 ] 10kV 435745 W3 2k 35KV i 3 AL HL ik 6910.9 0
KA T FE] ] B 7 L3t Rl ) 10kV4074 K 5% Ll 2k 35KV R SR LU AR FEL i 11102.4 0
KIE T ] %) M e Ak H A ) 10kV 43513 i it £ 2% 35KV it 3 AL L ik 11102.4 0
REFET | EMEH &SR A 10kV 419376 [F] 42 2% 35KV IR LR AR L i 8088.7 0
RET | R e A ] 10kV43515 | i £& 35KV i AR R vl 8088.7 0
REFEIT | P e ik e 2 ] 10kV 4183 53 2% 110k V FH 38 AZ F v 11102.4 0
R | R e A e s 10kV505/\ B £ 45 35KV I, P AL F il 6910.9 0
KA T FE] I o 2 it Pl A ] 10kV 5127 I 24#4; 110k V3T 4] £8 A% B il 11102.4 0
KA ] ] A 2 B it R 0 ] 10kv419-L 7t £k 35KVt B V] AL HEL i 7707.6 223.67
K IR [ P 2 2 Bt F 2 ] 10kV5127c 3, T [A12k 110KV 7t = 7% Hi il 7707.6 889.38
KIF T ) 7 2= Lt H 2 ] 10kV5127C 5 2% 110kV JTEFAZ H i 7707.6 10.08
KR [ ) 72 = ELAt H 8 =] 10kV527 /5 S5 £k 110KV 7t = A% Hi il 7707.6 2034.18
KA T [ W 7 2= it v A ] 10kV 4141 55 2% 35KV IR PR I AR L 5715.8 71.64
KA ] ] A 2 Bt B 0 ] 10kV515/)N Jfk 2k 110kV /) 58 A% HE 3l 6910.9 292.12
KA =) Y = 2P /A 10kV 41175 3 2k 35KV R R AR HL i 5715.8 83.74
KIE T ] ) /2 2 B e ) 10kV52877 V5 2k 110kV 7r 25 A% HL il 8348.5 214.7
KRET | EME B4 A 10kV4023 55 41 2% 35KV 5y 18 K AR HL vk 5715.8 80.04
KA & A~ Bt A A 10kV40637K I£; 35kV 7K 75 A% HL 5715.8 39.64
KIF T [ W 7 2z Bt F A ] 10kV4024 5 /N2 35kV 53 S AR HL 6910.9 180.02
KETH | EME B4R AH 10kV4026 1 i & 35KV E T8 3K AR FL v 9526.3 760.04
NG [ ] £ 7 B it H 0 ] 10kV415 7R 7K 2% 110KV 48 Jil 75 A% 4589.9 79.22
KR [ [ /7 2 Bk H 2 ] 10kV 412 [ 25 35KVER IR AL HL il 5715.8 79.24
KA [ ] 7 2 B it H 0 ] 10kV511077 3L 142k 110KV 7t = 4% Hi il 8348.5 1392
KIF T [ W 7 2= B it H A ] 10kV 4034485 /N2 35k VG ) L Ll AR FL 6945.5 145.6
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NG W 7 2 B H A ] 10kV4037#5 1k 2% 35kVAS )L Ll AR FEL 6945.5 474.8
KA T W 7 2z A L A ] 10kV52477 7 11 28 110KV 7t 2= A2 Hi il 9526.3 10.24
KRIEH | EMLE B AH 10kVA177% A 25 110KV 7R i 75 4% F il 4589.9 21.32
NG [ W 7 2 it F A ] 10kV 403985k 2% 35k VG ) L Ll AR FL i 5715.8 367.24
KR [ [ /7 2 Bk H 2 ] 10kVA408 7 H-4& 110KV 7R Ji 75 A% H il 4589.9 67.02
NGl W 72 2 B H N 10kVA117R P 2k 110KV ZR J& 75 7% i il 4589.9 3.02
NG ) 7 2= EL it H 2 ] 10kV514/N 7R 2% 110kV /N 58 A% HE 3l 4330.1 158.28
NEL W2 7 Bt L ] 10kV4028 5 4l 11 [1] £ 35kV 5 S AL HL 5715.8 110.04
KIE T ] ) 22 2 EL A A ) 10kV415[82 /N 35KV R PR A AR L 5715.8 22234
KA T [ W 7 2z it v A ] 10kV413 %4 H 2k 110KV 7R Ji 75 A% He il 4589.9 88.32
YNGR W 22w B AL A ] 10kV513/)M i 25 110K V/N 3¢ HEAZ R b 5715.8 263.94
KIE T [ ) /2 7 B A ) 10kv412 = £E 2k 35kV = T A% HL ik 5715.8 234.54
KT W 22 7 BL A3t H 2 ] 10kV52677 7t 11 28 110KV 7t 2= A2 Hi, il 8348.5 192
KT W 1 2 B e A ] 10kV413 =Rk 35KV =t 4% B il 10911.9 450.67
KIF T [ W 7 2z B it v A ] 10kV513/4 75 T 2% 110KV /r. 2 4% i il 8348.5 1026.5
KA [ /) 7 2= B fit R 0 ] 10kV5157c 78 1 45 110KV 7t = A% Hi il 9526.3 1979.99
KA T W 72 7 B H N ] 10kV40667K £1 £k 35KV 7K 75 A% H il 7707.6 21.48
KA ] ] A 2 Bt B 0 ] 10kV415 = 2k 35kV = Hi 4% B il 9526.3 0.04
KA W e = B AR A A 10kV403055 % £k 35kV G iHE S AR HL B 5715.8 0.04
K[F] H [ [ 2 2 Bt H 2 ] 10kV4029 5 R 2% 35kV G AR HL 5715.8 0.04
KRET | EME B4 A 10kV5210 2 ¥ el 242k 110KV /r. 25 7% L il 8348.5 0
KT W 72 2 B H N 10kV5147C 4 — A1 £& 110kV JCHFAS L il 4330.1 0
KA T W 2 2 LAt H 2 ] 10kV 403685 {1 2% 35kVHY J L LLIAR H 10652.1 0
NG [ ) /7 2 Bt v 2 ] 10kVv4147: b2k 110KV ZR i 75 A% F il 5715.8 0
KA W 72 7 B H N 10kV411t/N gk 35k VL AT AR Ly 5715.8 0
KRET | EME B4 A 10kV519 2 #¥ el 142k 110KV /r. 25 4% H il 8348.5 0
YNGR B W e 2 B i A ] 10kV414-E 5l 25 35KVt B AT AR HRL il 5715.8 0
K IR [ [ 2 2 Btk H 2 ] 10kV5147 3, 11 [71 2% 110KV 75 2= 7% Ha, il 7707.6 0




20254 (=FF) KALKREHEENTHAREE

PR Rt 58 27 iy | PooR I RAER | AR
PN W 2w B ] 10kVA404 75 /N2 110KV 7R i 75 A% F il 4589.9 0
KA T ] ) 75 2= B it A A ) 10kV525/c 3% T[] 2% 110KV 7t = 7% Hi il 7707.6 0
KA T [ W 7 2z B it v A ] 10kV521 77 M4 2% 110KV 75 = 7% Ha, il 7326.6 0
KA [ W 22 7 B e A ) 10kV414 = 2k 35KV = 148 H il 6945.5 0




